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EHy$U ßboQ>

JwUmH$ma {MÝh

3 × 4 = 12

~amo~aMo {MÝh

EHy$U bmSy>
àË¶oH$ ßboQ>‘Yrb 
bmSy§Mr g§»¶m>

JwÊ¶H$

JwÊ¶   3

   4
1 2

×
JwUmH$ma

 {Xdg - 08

JwUmH$ma

g‘OyZ KoD$¶m 

àË¶oH$ ßboQ>‘Ü¶o 3-3 bmSy> AmhoV. 

EHy$U {H$Vr bmSy> AmhooV, Vo ‘moOy¶m.

EHy$U Mma ßboQ>‘Yrb bmSy> åhUOoM

3 bmSy> 4 doim KoD$Z Ho$bobr ~oarO hmo¶.

3 + 3 + 3 + 3 = 12

3 + 3 + 3 + 3 ho JwUmH$ma ê$nmV 3 × 4 Ago {b{hVmV.

åhUOoM 12 hr g§»¶m 3 Am{U 4 ¶m§Mm JwUmH$ma Amho.

JwUmH$ma åhUOo EH$M g§»¶m nwÝhm nwÝhm KoD$Z Ho$bobr ~oarO. 

g‘mZ g§»¶m§Mr dma§dma ~oarO H$aÊ¶mnojm bdH$a CËVa {‘imdo åhUyZ AmnU JwUmH$ma H$aVmo. 

¶mgmR>r nmT>o Cn¶moJr nS>VmV. 

3 × 4 = 12 ¶mMo dmMZ AmnU 3 Jw{Ubo 4 ~amo~a 12 Ago H$aVmo.
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gmoS>dyZ nmhÿ¶m 

  dñVy§Mo JQ> ~K. gmaUr nyU© H$a.

{MÌo H$m¶ {Xgbo? ~oarO ê$n JwUmH$ma ê$n EHy$U dmMZ

5 ’w$bo 4 doim 5 + 5 + 5 + 5 5 × 4 20 5 Jw{Ubo 4 ~amo~a 20

8 + 8 16

4 ‘mgo 4 doim 4 × 4

6 ’w$bnmIao 

3 doim

6 Jw{Ubo 3 ~amo~a 

18

3 + 3 + 3 9

  nwT>rb JwUmH$mamMo PmS> nyU© H$a.
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gamd H$ê$¶m 

  JwUmH$ma H$a. (C^r ‘m§S>Ur)

   JwUmH$ma H$a. (AmS>dr ‘m§S>Ur)

  5 × 1 =   5  3 × 1 =   10 × 0 =    8 × 0 = 

  7 × 0 =   9 × 1 =      4 × 3 =     6 × 7 = 

  JwUmH$ma gmaUr nyU© H$a.
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  EH$m ‘mioV 6 ’w$bo AmhoV, Va Aem 3 
‘mim§V ’w$bo {H$Vr?

          EH$m ‘mioVrb ’w$bo   

          ‘mim

          EHy$U ’w$bo

× 
          EH$m am§JoVrb PmS>o

          am§Jm

          EHy$U PmS>o

× 

  ’$i~mJoV EH$m am§JoV 5 ZmaimMr PmS>o ¶mà‘mUo 7 
am§JoV EHy$U {H$Vr ZmaimMr PmS>o bmdVm ¶oVrb?
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